7.13

(a) %:%{%Nl - N2}~%7=;mereisnoneed to WriteaseparatecquationforN]

since atoms mug; be conserved angd thus Nq+ Na=[N);
®) 1f Ip— o, then the bracket in the above must be Zero o prevent an infinity appearing
in a physica] €quation, Thug Ny/N;p = 82/81.

. o1 ot Na _ Galen) )
(c) Fora Steady-state situation: Nz[ 1+ l; Ip] = g%h—v- I, Njor Ny = ‘grfjm%

where I = hl; This ratio equals 0.5 whep I/Is = 0.25 for 82/81=2; L =;2§._3_,W/cmz;
ot
Thus [ = 5.82W/fem?2; (4 NN = (gy/g, Jexp[~ E/T] = 6.25x10-25; safe 1o ignore N»,



